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Section : General Aptitude Knowledge

0'1 With the army ot whieh eoimty has Tndisn aran condnctad r taa-weedk joist mil tary exercise “Vudh Abhyas 2015 in
Unarakiand in Ssptembe 20187

Ans of 1. USA
X 2 France

Question 1D':1860452231
Status; Answered
Chosen Option :1

< 3. Germany
& 4 UK

Q_z The Iucinn Al Forcs has suscesstully carviod out toe dirst aver mid-aic refaelling of which of the follbwing combat
aiziralls?

Ans J'T‘ Tejas
X 2 Cheetah

Question ID : 1860452233
Status : Answered
Chosen Option : 1

X 3 Dhruv
X 4 Rudra

Q_3 Which ane of The fallowng ishailzd as 1T tinest specimen of !nrhw"t A:‘nﬁ«ﬂ. ad callad the “Tajer
the R ? Lk a>

Ans o 1. The Victoria Memogial Hall, Kolkata
X 2. Victoria Terminus, omb

Question ID : 1860452228
Status : Answered
Chosen Option : 1

oo

X 3. Rashtrapati %amNev. Delhi
%daman and Nicobar [slands

Ans

X 2 Coulomb device

Question ID : 1860452237
Status : Answered
Chosen Option : 3

X 3. Electrostatic device
o 4 Electroscope

Q 5 Which airpat will bzoeme the first airpot ot Indin ta providz paperiess oil avel b the demestic passengers through
" bizmenic tecinology?

Ans ?{ 1.
Chhatrapati Shivaji International Airport, Mumbai

Question ID : 1860452234
Status : Answered
Chosen Option : 1

v 2
Kempegowda International Airport. Bengaluru
X 3

Sardar Vallabhbhai Patel International Airport, Ahmedabad




X 4
Indira Gandhi International Airport. New Delhi
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Q-s Crovernment o2 which Union Tarritory hias launched “Home Delivary of Putlic Services' scheme 23 an aftanyr o
climinate corruption in varicus public dealing offices”

Ans o 1 Chandigarh
< 2. Puducherry
/X 3. Lakshadweep
V' 4 Delhi

Question ID : 1860452232
Status : Answered
Chosen Option : 4

Q.7 ‘“Where is the ramous and India’s largest Buddhist monastery, Tawang Monastery. locazed?

Ans  of' 1. Arunachal Pradesh
< 2. Assam
< 3. Nagaland

/< 4 Manipur

Question ID : 1860452229
Status : Answered
Chosen Option : 4

Q.8 "Which among the following Stares has the 1avgest numher of T.ok Sabha seats?
Ans " 1. West Bengal

X 2. Gujarat

/< 3. Assam

/< 4. Rajasthan

Question 1D : 1860452230
Status : Answered
Chosen Option : 4

Q9 which state is the largest producer of tomatoes in II}M [

Ans o 1. Andhra Pradesh
X 2. Madhya Pradesh
X 3. West Bengal
X 4. Gujarat

Question ID : 1860452236
Status : Answered
Chosen Option : 2

Q10 Iy which year was the Gandhi-Irwin Pact signed?
Ans X 1.1942

X 21935

v 3. 1931

< 41921

Question ID : 1860452227
Status : Answered
Chosen Option :1

Q.11 Wiich of thefollawingis NOL t insrvment of e nuonelry pokivy of the Reserve Bk of ludia?
Ans /1. Goods and Services Tax (GST)

# 2 Bank Rate

X 3. Statutory Liquidity Ratio (SLR)

< 4. Cash Reserve Ratio (CRR)

Question ID : 1860452235
Status : Answered
Chosen Option :1

Q12 Which of the following pass (es) through the Indian mainland?

1. The Tropic of Capricorn
2. The Tropic of Cancer
3. The Equator

Ans X 1. Both 2 and 3
X 2 Only 1

Question ID : 1860452226
Status : Answered
Chosen Option : 3




W' 3 Only 2
# 4 Both1and2
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Section : Logical Reasoning

Q AR CLTh Fand Fonre sitting in a fheatre facing the smage. F s sitbng seeond from the 1zft end. T2 5 on the immedinte
right of F. A isat an extrems end and kas C as neighbour E Is berareen B and F, Who is sitting te the right of 'C'7

Ans x1_ D
<2E
X3B
v A

Question ID : 1860452240
Status : Answered
Chosen Option : 4

Q.2 AThijit Teaves his honss and meves 30 Jom in norfraest dircctien and 20 km in tiam. Next. he moves 30
o o sowtheast direction. Then he moves 30 kn in novthaast divection. How tar away is he from his zouse?

Ans x1_ lﬂkﬂl
2 0km
< 3 30km
K 4 20km

Question ID : 1860452244
Status : Answe
Chosen Option : 2

Q.3 Which of the Vena diagrams costectly reprezens the following classes as applicable in India?
President. Cabinet. Home Minister
Ans

uestion | 60452249
:Answered
n Option : 3

Q_4 Tirom tha given abarnatives, zelzct the word which CARNOT h2 formad neing tha leters of the given word:
RESCOLUTELY

Ans K 1. LUSTRE

X 2. SELLOUT
X 3. TROLLEYS
4 RESULTS

Question ID : 1860452242
Status : Answered
Chosen Option : 4

Q5 Find a number, which when added to itself 14 times. gives 120. [

Question ID : 1860452247




Ans
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X 1. Q Status : Answered
K 2. 6 Chosen Option : 4
w3
s
Q6 ion which is di :
Select the opﬁm which is different from the other three responses: Question ID : 1860452238
Ans T 1, OQTX Status : Answered
X n CE Chosen Option : 3
X 3. KMPT
v 4 NPSV
Q.7 Choose the correct altetnative from the given ones that will complets the givea number series:
Question ID : 1860452239
G, 73,95, 1458, 172, 3 Status : Answer
Ans x 1. 204 Chosen Option : 4
X 2 248
X 3. 258
V4 227
Q.s Tn e foflrwdng equsrion, bas s el fo he § recd s ke 1 worret. Chotese e andburs fom e given
allermatives: %
11860452245
ErA+RTI-I=0-5 51502 - Answered
Ans x 1. 2.8 :2
V2509
X 3. 3: 6
X419
Q.9 ! ; ’
An argument always has: Question ID : 1860452246
Ans K 1. Noise Status : Answered
e Chosen Option : 3
« 2. Difficulty
« 3. Disagreement A
X 4 Mediator
0_10 I KT M oand Noane five ooising. W is Taltt] ice the nge of T K is TRIthe nge of 7.0 s haifthe age
oAl b Kot Question ID : 1860452248
Ans X 1. 1, Status : Answered
{ 2. KA Chosen Option : 2
X 3
xXaJ
Q.11 Givan Telow ars two ctats . Considar thase s fo b truz aven n*.he'v seam&'cmauy aosusd. Raad the
wimclisions amul then decide which of e grven conchesiime logically fllow(s) fromthe given slalemenis? Question ID : 1860452241
Satciept: Status : Answered
g :-}Jlfl:i‘”ﬁ;fﬁm Chosen Option : 4
Canelusions:
T Mo naodlz ixa speon.
L. Some forks are 2oodles
Ans

& 1. Neither conclusion follows.
/< 2. Only conclusion I follows.
< 3. Only conclusion II follows.

+’ 4. Both the conclusions follow.
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Q.12 10t bwelll day ofa monih s 4 days alter Fridey, whal duy will 1 de o Lae frst duy of e nenth ! X
Question ID : 1860452243

Ans « 1. Friday Status : Answered
x 2. Mon dﬁY Chosen Option :1
X 3. Tuesday

< 4 Wednesday

Section : Engineering Mathematics

Q.1 The expression for the truth table given below in POS form is given by: Question ID : 1860452254

Status : Answered
Chosen Option : 4

Gl R it (il ==l e R Rl (Y
O e =1 E=1 S S K =1 o]
b | O b | O e | D = [ O Y
(=1 O e o et = e |

Ans X 1. AB’CHABC!
W 2 (A+B+C)ABHCY)
& 3. A'B’C+ABC
X 4 (A+B+C)(AB+C)

_— =
Q.2 Two voltages given as—2 V and -1V in positive logic convention represent: Question ID : 1860452253
Ans 1. —2 Vis logic 1 and —1 V is logic 0 Status : Answered
x 2 Chosen Option : 1

—5 V is logic 0 in some circuits and 1 in the other
W3 2VislogicOand -1V is.logiegi
X 4 of

—5 V is logic 1 in some circuitsand 0 in the other

Q3 The ovmber of essential prime zoolivants for e Dunclion ¥ = A’BT’DT%: AW.-\DC’D" s pives by ;
R .

Question ID : 1860452252

Ans
X111 Status : Answered

N 22 Chosen Option : 4

Vs 3

Question ID : 1860452255

ri‘fmrerting nor non-inverting Status : Answered
Chosen Option : 4

« 2. Inverting or non-inverting
< 3. Always non-inverting

X 4. Always inverting

Q.5 The current state of Q2Q1Q0 — 100 Zor the circuit below. The next state will be
Question ID : 1860452251

Status : Not Answered
Chosen Option : ==
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< 3. 001
X 4110
Q.6 The Boolean function AB+AC is equivalent to Question ID : 1860452250
Ans x 1. AB+AC+BC Status : Not Answered
X 9 A’B"C"FABC"FA’BC Chosen Option : ==
X 3. ABC+A'BC+B'C’
v 4 ABC+ABC+AB’C
Section : Networks Signals & systems
@1 PLA consists of Question ID : 1860452259
Status : Not Answered

Ans X 1. Programmable AND and fixed OR arrays

v
Programmable AND and Programmable OR arrays

/< 3. Fixed AND and Programmable OR arrays
/< 4. Fixed AND and Fixed OR atrays

Chosen Option : -

Q-z When two asyichronons sctive low ioputs PRESET and CLEAR are applied to a J-K tlip fep, the outpot will be

: Question ID : 1860452257
Ans X' 1. () Status : Answered
Chosen Option : 3
o 2. Undefined SRR
X 3. Previous State
X4
Q.3 * i . . . .
5:32 decoder circuit can be implementedwith. = . Question ID : 1860452264
Ans  of' 1. One 2:4 decoder and 43:8 decaders Status : Answered
~ Chosen Option : 3
< 2. Four 3:8 decoders
< 3. Two 3:8 decoders
X 4. Eight 2:4 decoders
—— —
Q.4 Output of the circuit shown below when S = 1 and S = 0 will b ;
vt of the cironit shown MRNEARE " R Question ID : 1860452258
Status : Not Answered
e Chosen Option : -
o
Ougput
i
o
Ans % 1. P and High Impedance state respectively
+ 2. High Impedance state and P* respectively
/< 3. 0 and 1 respectively
X 4. X and P respectively
Q_s A particiler lngic family hes VOF — SV VOT — 1V, VIF — 3.5 snd VT, — 2V The Moise marging vahies NMg indd
IR will be: Question ID : 1860452260
Ans o 1.1.5V, 1V Status : Not Answered
Chosen Option : ==

X 2 5V, 1V




X 31V, 1.5V
X 4 41V, 5V
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Q.6 Therzsokstion of 4 Eit sountiag ADC is 0.3 V. For an analos lnput 5.3 volt. the output of ADC will be ’
Kb « Question ID : 1860452266
- 1100 Status : Not Answered
X 2 1111 Chosen Option : -
X 3.1010
& 41011
Q.7 A orutban detector systen wroduess snalen o e Gielory when voe of the troe conditivns vecurs, The sy is

Ans

testinal ax suck only une condilivy cxn vecur at 4 G, 1 L these concilivas are defined 2s 3. Tamd s respectively, the

AN s v s
X qQ’rstr’s’
v 2 qris’+gs
X 3 qrs™r
X 4. gtrts

Question ID : 1860452261
Status : Not Answered
Chosen Option : -

Q.8 The sequence detected by the state diagram shown below is .

o/0
1o
A N ——— L]
P A .
oo
T oo 10 i
o r—————— €
o/

/< 2. 1110 sequence detecto
o 3. 1101 sequence det

Ans

The output of i .

X110
v x
X3 A
X4

Question ID : 1860452256
Status : Answered
Chosen Option : 4

Q 10 Fora Typical CROS process, the mipinmm fzeire size is settohe b — 25 nm. Thz minimmm line width ot process is
sgtiobe .

Ans

25 1. 100 um
X 2 12.5 um
'3 50 um

Question ID : 1860452265
Status : Not Answered
Chosen Option : -




X 4 25 um

Page 8

Q1 Race around condition is associated with

Ans X 1. Combinational circuits

v

Sequential circuits with level triggered clock
X 3. Sequential circuits
/< 4. Both Sequential and Combinational circuits

Question ID : 1860452263
Status : Answered
Chosen Option : 1

Mlinfnuz nunber of Bl Cadders, Tl adders and AND gates required Lo nplenent 2 < 3 Multiplier is duen as
Q.12

Ans X 1.1,2.6
™o I.6
X 32,26
v 2,1,6

Question ID : 1860452262
Status : Answered
Chosen Option : 4

Section : Electronic devices

Q.1 t:nd the high cut-off fraquency of second order filter as shown in the figure below:

e 158k
Ve 1Y
0t 30k0 ~
e AAA 7 L

WA W
+
va g =eonr == VoS Y S
= W 00047 af A
-

Ans o 1.1128 Hz
X 21028 Hz
X 31228 Hz
X 4 1528 Hz

Question'ID : 1860452273
Status : Not Answered
Chosen Option : ==

Q 2 The iremsiator in b eirond o el Fig hns =100 snd exhibi
aed R mespelivedy, su Ul s correnl of 3 m Oows trough e

-
3
1.

Ans X1 450k and 8.33%

=1 mmui e valies of e
£ uliwﬁ S aupeirs al e collecios

Question ID : 1860452270
Status : Not Answered
Chosen Option : -

Q3 The CMOS inverter can be used as an amplifier when:
Ans X 1. PMOS is in linear, NMOS is in cut-off.
/< 2. Both are in linear region.
+’ 3. both PMOS and NMOS are in saturation.
< 4. NMOS is in linear, PMOS is in cut-off.

Question ID : 1860452279
Status : Answered
Chosen Option : 3

Q.4 Frraiven ap-amp cinenlr, eansidzr infiaite inpret resistonee pnd aso ontpit resistanee. 1A — 100 (apen loop gaing fen
what will be te closad loop gain?

Ans o 1. 0.99
X 2 025
X307

Question ID : 1860452275
Status : Not Answered
Chosen Option : -




X 4 0.11
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@5 Diffusion capacitance of PN Junction Diode

Ans x 1.

increases with increasing current and increasing temperature

V2

increases with increasing current and decreasing temperature

X .

decreases with decreasing current and decreasing temperature

X 4

decreases with increasing current and increasing temperature

Question ID : 1860452278
Status : Answered
Chosen Option : 2

Q6 yWhat is the voltage gain for the circuit given below?

Voo

Ve_|[m2

vout

“"‘—} M1

Ans X 1.-—gml (rol x:r02)
2 —gml (rol|ro2)
X 3. gml (rol % ro2)
X 4 gml (rol||ro2)

Question ID : 1860452272
Status : Not Answered
Chosen Option : ==

Q.7 In the given circuit, which type of feedbac;&co;ﬁinag@ggs used?

Ve +15V

Ry

Ans X 1. Series~ Shunt feedback
<2 g],lmlw—-éghunt feedback
W' 3. Serfes— Series feedback
#< 4 Shunt — Series feedback

Question ID : 1860452274
Status : Answered
Chosen Option : 2

Q8 n the given circuit below, what will be the value of V?

2ka 5k0
INW AN
n @V,
V,=1V @ § o
R
Vpy=2V .——A'N\,— ,
R Ru
Ve=3V o—\\A\—

Ans X' 1. 8V

Question ID : 1860452271
Status : Not Answered
Chosen Option : -




V27V
X3 -5V
K4 4V
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Q9 Calculate the expression of output voltage for the given circuit:

10V

vz

TRy
j E’ LA
7RO
+10V K0
Tt

Vi L

Ans  of 1. 41(V] =N2)
X 2. 11(V2- V1)
X3 11(V1-V2)
X 4 41(V2-VI1)

Question ID : 1860452276
Status : Not Answered
Chosen Option : -

Q.10 4 Darlington emitter followsr circuit is somatimes vsed in the ouypir stage of TTL gatete .

Ans X 1. To decrease power consumption
X 2. Decrease its oy
3. Increase its Iop

« 4 To increase speed

Question ID : 1860452268
Status : Answered
Chosen Option : 1

Q.11 Whal is the peak vuput vollzpe of a cass B amplifier for asupnly vollase of Vig-=
Ans X 11731V
<22174V
V31317V
X< 41035V

Question ID : 1860452277
Status : Answered
Chosen Option : 2

Q.12 Asame Hea the il T s dedeal srul T2t i 23 us piven in e cirenil Tielow, Find et the valoes of
lefeled woltage and errent:

5w
15m;

wnz
E

Ans X 1. 8 Vand 0.5 mA
X 2 757 Vand 0.5 mA
X 3 8Vand0.24 mA
V4 757V and 0.24 mA

Question ID : 1860452269
Status : Not Answered
Chosen Option : ==

Section : Analog Circuits

Q.1 The gl resstames ol 100207 when opeeating s ik aff ala currenl 10 mA and = 005 V75 b given by:
Ans K 1. 45081

v'2 2kQ

< 3. 2009

X420

Question ID : 1860452280
Status : Not Answered
Chosen Option : -~
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Q2 IfVB=1Vand VE=1.7 V. p and Vc of the circuit will be

5K

v joc
Vb

100K

Question ID :
Status :
Chosen Option :

1860452288
Not Answered

Ans o 1.165and—1.75V
X 2150and -2.75V
X3 0994and-1.75V
X 4180and 2.75V
—mu w———
0-3 MT\'MUG has 1d = smoA, Ve — v, vds— 4y and VI— 08 VI The thickness of ovide i3 500 A® The aspect ratio of P [ )
device a1 room temperature will ba Question |B B 188&4522&?
Ans X' 1. 1.5 Status : Not Attempted and
; Marked For Review
x 2 Chosen Option : -
K325
v 35
_— ==
Q.4 Fonrier Transform of sgi (1) is . where sgn reprasents sigmm function.
@ e & Question ID : 1860452291
Ans SR+, j® Status : Not Attempted and
Marked For Review
<2 2w Chosen Option : -
X 3 jo/2
W4 26
Q_5 M MOS Capacitor with B Substate Is i accumulation mode. Thaﬂém chmbe channel is dus o faz
frescrice of Question ID : 1860452286
Ans x 1. electrons Status : Answered
. ; Chosen Option : 2
& 2 negatively chargeddons
+’ 3. holes
X 4. positively charged jons
—_——
Q.6 Lrans conductance of MOSEEL in lincar region can be approximeted by
& . Question ID : 1860452282
ne X 1 2K(WK Status : Not Attempted and
_ ' Marked For Review
«‘ o m Chosen Option : -
X 3. ID/(VGS-VDS)
X 4 K(VGS-VT)2/ID
Q.7 A sisanple is dopeé wita 1617 Arsenic atomsiem?, Displacement of EF telative to Eis .
2 o Question ID : 1860452284
ns X 1. Positive, 0.589 eV Status : Not Answered
X 2. Negative, 0.589 eV Chasen Option : —
+ 3. Positive, 0.407 eV
X 4. Negative, 0.407 eV
Q.8 AnN-Channel DT has [y = 1 mA and Vp = -8V, Its maxinum ransconductance is
Ans Question ID : 1860452290
x 1. Status : Not Answered




X 200028
X3028
W4 00018

Chosen Option : -
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0_9 Frra BIT, 20— 0.97 anct enllector bass netion raverss samustion s given by 0.4 pa. This BIT s connceted in comman
suuner configuration and operating W getive tsgion, IrTg 13 pA the collector curvent for the devies will De s

Ans 5 1 506 uA
W 2. 498.34 A
< 3.1.01 mA
X 4 1mA

Question ID : 1860452281
Status : Not Answered
Chosen Option : -

Q 40 Frehahilin of encrgy statz By Fermi T.2veli oeenpizd by an electron af absalife tempemmys 2an he approximarad as

Ans 1. 0.5
X290
X 3025
Xa

Question ID : 1860452283
Status : Not Answered
Chosen Option : ==

Q.11 Araconstan collsctor cusrent, The magmitude of hase emiter voltage decreases by 2 mV for every X rise
lempieralure, |lere NX s

Ans x1_ 3°C
X209°C
X 3 4°C
va1e°C

Q12 yalue of current in this circuit is .

Question 860452289

se tion : --

Question ID : 1860452285
Status : Not Answered
Chosen Option : ==

Section : Digital ci

Q1 The Nyquist plot given below represents which circuit?
Im \
/ R,B

Ans X 1. High Pass Filter
X 2. Low Pass Filter

Question ID : 1860452309
Status : Answered
Chosen Option : 2




« 3. All Pass Filter
/& 4 Notch Filter
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Q.2 Wl s de total power arried by sidebumis of Lhe AM wave (DSB) for tone modulation for p =047
Ans o 1. 7.4%

< 211.11%

X 3.4.3%

X 4. 8.3%

Question ID : 1860452293
Status : Answered
Chosen Option : 2

Q3 Which of the following requires least bandwidth?
ans X 1. DSB-5C

X 2 DSB

X 3 VSB

V4 SSB

Question ID : 1860452297
Status : Answered
Chosen Option : 4

Q.4 T dneredss e rate of venmmuzsezion Uy loge o in Meary cation, e power i i by

Ans o 1. M
ERY
X 3 M
X4 2M

Q 5 Anampl imadz madnlatzd signal hes a cavvier firaqueney ot 10 kHz. The npper sideband is teensmitted at | | kF7 The
Tandwidth required tor tie AM siaual to iransmii is 3

Ans 1. 10Kz
W' 2 2 kHz
X 3 11kHz
X 4 1kHz

Question ID : 1860452304
Status : Not Answered
Chosen Option : -

or madnlation?

Q.6 Which madulation techniqne does NOT 1sé

Ans X 1. Delta Modulation

: Code Modulation
odulation

Question ID : 1860452295
Status : Answered
Chosen Option : 4

Question ID : 1860452301
Status : Answered
Chosen Option :1

Q.8 Lfthe constant *X™ i3 negetive, then what would be its contribution to the phase plot?
Ans % 1. 90 degrees

X 2. 45 degrees

< 3. 180 degrees

W 4 0 degree

Question ID : 1860452307
Status : Answered
Chosen Option : 3

Q9
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Inverse Fourier Transform of §(w-wmq) is EleRtoR Lk SRA RS
: ' Status : Not Answered
Ans X 1. 257/ elwlt Chosen Option : -
X 2. gl
W 3 el
X a. o ej‘coﬂt
0_1 0 & Speaig ?wtcd prograjmm r;?.:l: erin Amplitice with a negative fezdback is designed. Whidh methad will bz fhe best
R Question ID : 1860452306
Ans X' 1. Bode Plot Status : Answered
F Chosen Option : 4
/< 2. Nyquist Plot
+' 3. Root Locus
X 4. R-H Stability Criteria
S ——
Q.11 A system with a unity gain margin and zero phase margin is > .
¥ e & B B Question 1D': 1860452305
Ans X 1. sluggish Status : Answered
< Chosen Option :3
X 2. highly stable
2. oscillatory
/< 4. relatively stable
Q_12 The signal pivice and 'nnis: et o denotzd by 5 and ™ |'v§.r!ef:tiircl}'. Trthe signal power inercases o 35 and e noise
power raduces by halt, the ratio of old SNER te the new SNR iz given by . Question 1D - 1860452300
Ans x 1. & Status : Answered
N2 94 Chosen Option : 4
X315
v 1/6
aw =
Q.13 The maximum efficiency of AM modulation (fone modulation) is
o ’ . % s Question ID : 1860452298
Ans X 1. 67% Status : Answered
X 2. 30% Chosen Option : 1
X 3 70%
v 4 33%
_—
Q.14 The muodulativz index of an AM JJIL\:’n%%G’ and the carmies powsr is L1 W, Caleulals wial sicebamd powsr,
e Question ID : 1860452299
Ans . ;
x 1. 1847 W Status : Answered
X 2. H%l@ Chosen Option : 1
X3 1230w
V41743 W
Q.15 2 S i X a0
Identify the correct definition for Phase Margin and Gain Margin: Question ID : 1860452308
Ans X 1. Status : Answered
1. Gait mazein i a tactor by which the sistei eain can be increased to drive 2he system o the verze of instability. .
£, P g et ol Pl e o e v B 8 iy e sy 0 v o bl Chosen Option :1
v
1. Cain mearzin s 3 tactor by which the systzm gain cau be increased 10 crive the systen: ta the vergs of lnstanility.
I Thasc margin is the adéitdonal phase leg o gain cross over frequeney to bring the svstem o vergs of lastanility
X 3
1. Gain mazgin is a tzetor by which the systam gain can be decraased ta drive the sysren to the verze of instablity.
IL Frase margin is the additional shasc lead at gain eross over frequency to bring the systam t vesge of instability,
X
1. Gain marzin js & thctor by which the systam gain can be decreased to drive the syetem to the veres of insmadiling.
11 Plinss margin js the additional phosc lag at gaia cross over frequaney to bring the system to verze of instability.
Q.16




The bit sate of digitel conmuniceton systzm is M kbps. The modnlarien sed is |6-QAN. The miniorin batdwidth
required for ideal ansmission is

Ans X 1. M/2 kHz
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Question ID : 1860452303
Status : Answered
Chosen Option : 4

X 2 M/16 kHz
X 3 MkHz
W 4 M/8 kHz

Q17 A practical signal could be .

Ans 2 q,
both, time limited and band limited, simultaneously

Question ID : 1860452294
Status : Answered
Chosen Option : 4

v &)

both, time limited and band limited, but not at the same time
< 3 band limited
< 4 time limited

== =

Q18 Which of the following has the least noise immunity?
Ans x’ 1. Q AN
V2 ASK

Question ID 11860452302
‘Status : Answered
Chosen Option : 2

X 3. FSK
X 4 PSK

Section : Control System

Q.1 A diservie i system yiu 3 the resultam conyolulive: of Ko and B beving s 5 and § respoetively, The
naxirnuz Dossible sarople value of S and bim ane 10 md 20 sespeciively Vind the naxhoum possible value dossun
al el samople value of vz

Question ID : 1860452327
Status : Not Answered
Chosen Option : -

Ans o 1. 3000

X 215

X 3.130

X 4. 200
Q.2 Slow response of an over-damped system can be mace fasterwithdhehelp of _ conmoller,
Ans x 1. PD

W2 p

Question ID : 1860452314
Status : Answered
Chosen Option : 1

X 3 PI
& 4. Remote

given by x(t) = e* u(t). The system is .
Ans 1. Causal and Stable
# 2 Non-Causal and Stable

Question ID : 1860452326

Status : Not Attempted and
Marked For Review

Chosen Option : -

«' 3. Causal and Unstable
X 4. Non-Causal and Unstable

Q.4 A vcondition where inlegral conrol active drives e oupal ofa contoller inw selurition is culled

Ans o 1. Wind-Up
X 2 Noise

Question ID : 1860452315
Status : Answered
Chosen Option : 4

< 3. Repeat
< 4. Offset

Q.5

Question ID : 1860452310




There are 2 systems:

a. An automatic washing machine

Status : Answered
Chosen Option : 4
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b. An automatic intensity adjustable light bulb

Which of these systems will be more sensitive to the variation in system's zain®

Ans X 1. Data is insufficient
< 2. Automatic intensity adjustable light bulb

/< 3. Both will be equally sensitive

« 4 Automatic washing machine

Q.6 The fourier series expansicn of szrifcos(t)) has . Where sz represents the signum function.
& " : g Question ID : 1860452325
ns X 1. Only sine terms with even harmonics. Status : Not Attanipted and
1 : . Marked For Review
/< 2. Only sine terms with odd harmonics. Chosen Option : -
« 3. Only cosine terms with odd harmonics.
#< 4. Only cosine terms with even harmonics.
_— =
Q.7 What will be the Gein Margin (GM) and the Phase Margin (PM) of a closed loop TF )
T(s) — 500000/(s" + 700 + 250000)? QuestionID,: 1860452312
| Status : Not Attempted and
Ans o 1035 Marked For Review
x 2. w0, 70 Chosen Option : -
X 3. 60, 70
X 4 60,35
—
.8 Stendy statc errar forar apen lonp systam is 0. 1 Steady st ervar for the previensly mentinned sy“wcmhm
loep with a unity seaative F3edback and a gulse input tor Ls haviug magnitude of 10 §s7 Question 1D : 1860452311
Ans x 1.70.1 Status : Not Attempted and
J Marked For Review
24 Chosen Option : ==
<302
X 4.0.02
-— ey
Q9 Fj ‘enin’s equivalent resi the ‘ing circuit:
Find Thevenin’s equivalent resistance for the following circuit: Question ID : 1860452320
Status : Not Attempted and
Marked For Review
Chosen Option : ==

Ans X' q 5‘9‘5*:?@
W2 6660
XK36Q
X 46330

Q 40Q e ziven system is connected 1o a ity negarive faedhrck svstem. the steady state cvror of elosed laop systom wo a
L input is

Question ID : 1860452313
Status : Not Answered
Chosen Option : ==

sk
%
5
. )
502 M
X §oox
A e
&
|
Ans x
1. 0.01




<402
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Q 11 inclicrtea not nnby whefher @ systzin is stable, it also its dearze of strhiliy pod hosw steheding man he improved

if neessary

Ans X 1. Bode Plot
X 2. Polar Plot
«' 3. Nyquist Plot

# 4 Nichols Plot

Question ID : 1860452316
Status : Answered
Chosen Option : 1

Q_12 THthe ootpar of the system at steady state daesn’ agres with the inpar, fien the systzm s saic to have
determings ths ot the svstem.

Ans o 1. Steady state error, accuracy
/< 2. Residual error, overshoot
/< 3. Steady state error. tolerance

& 4. Residual error, tolerance

. whizh

Question ID : 1860452318
Status : Answered
Chosen Option : 3

Q.13 The Trasster Function oflzad and ing eampensatacs have and
the swstem and reEpecivelV

Ans X 1. —ve, —ve, slower, faster
X 2. +ve, —ve, slower. faster
W 3. +ve, —ve, faster, slower

X 4. —ve, +ve, faster, slower

phase angles respectively wiich mekzs

Question ID : 1860452319
Status : Answered
Chosen Option :3

Q1 Find I; in the following circuit. Vi =V, =1V:

,__'.;_.0

+

vy

D v
Ans X1 0.1A
< 2 04A
X 3 03A
v 02A

Question ID : 1860452322
Status : Answered
Chosen Option : 2

Question ID : 1860452323

, Status : Marked For Review
l } = ‘ Chosen Option : 1
Ans x 1. 6A
K2 3A
X 3 3A
v —6A
= i 2 (£2+ 3+ 1)8(t— 3)dt = Question ID : 1860452324
yig . )

Ans

Status : Not Attempted and




K13
X 2 37
X 313
vaio

Marked For Review
Chosen Option : -
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0_1 7 v Ethe inpots 7 a conol systan are graduelly cianaing fuactions of time, then a‘as
aoad rest signal.
E. If o svstem is sudjected to sudden distwbances, a'an
€. For s syslem subjected lo shock imnls. a5

function will bea

fonction will be a gcod test siaual,
fiemction will e a god test sgmal

Ans

/< 1. impulse. ramp, step
« 2. ramp, step, impulse
X 3. impulse, step, ramp

X 4. ramp, impulse, step

Question ID : 1860452317
Status : Answered
Chosen Option : 3

Q18 Find the resistance R1 and R3 in the following circuit:

Vy= 5V

gl ¥ ¥ Wi
LAAS

Ry

L =
v B =10
R’

AN
Lk oo

+-
Vi= &%

Ans TR 1.4.11,6.78
X 24.11,578
X 3.723.3.19
v 4 5.09,3.18

A}

_—

Question ID : 1860452321

Status : Not Attempted and
Marked For Review

Chosen Option. : -~

Section : Communication

Q1 The following image represents

s

Question ID : 1860452331
Status : Answered
Chosen Option : 2

-¢;<'

Ans X 1. Wave Shaping
X 2. Shannon-Hartley Effect

«’' 3. Gibb’s Phenomena
X 4 Aliasing

Q.2 Consider Lae 2 slatements:

1) An odd and imaginary signal always has an odd and imaginary Fourier transrorm,
1) Lae convalution of i odd Tourer mansformm wilh and even Foorer lansfonme 15 always even.

Which of the above starements is < are ue:

Ans o 1. None

Question ID : 1860452334

Status : Not Attempted and
Marked For Review

Chosen Option : ==

X 21and?2
K1




<42
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Q.3 should the real time instruments like CRO and DSO be time invariant?
Ans o' 1. Yes

< 2. Never

Question ID : 1860452329
Status : Answered

Chosen Option : 1

/< 3. Sometimes
& 4. No relation with the time invariance

Q.4 Br the decomposition property of a linsar system, we can separate cut 2 compouents of the linear system namely:

Which of the above statements is/are true:

ion ID :
Ans «, . Question ID : 1860452330
; Status : Answered
Zero input component. zero state component Chosen Option : 2
X 2
Steady state component, transient component
/< 3. Linear component, non-linear component
& 4. Line and a Circle
—_— —
Qs g m 5 : ’
‘Wattmeter deflection in AC circuits is proportional to the Question 1D : 1860452337
Ans 5 1. Voltage in the circuit Status ;Answered
2 3 ; Chosen Option : 4
' 2. Average Power in the circuit
< 3. Instantaneous Power in the circuit
/< 4 Maximum power in the circuit
—_— _—
Q6 Tin, : . =
Find the current flowing through the resistor R32: Question ID : 1860452328
R4 Status : Not Attempted and
a—" N\ Marked For Review
# 3 Chosen Option : -
vm - R1
" e ~ R2
g -5
Vi 2 |
110 Er
1 “; |
Ans X 1. 0.48A,
v'2. 0964
K412A
Q.7 Consider y1(t) — x(3t) and y2(t) — x(1/3). Consider the following statements: .
Question ID : 1860452333
1) Ify1(t) and y2(1) are periodcic. then x(t) is periodic. Status : Not Attempted and
2) If x(1) is periodic, then y1(t) and y2(1) are periodic. Marked For Review
Chosen Option : ==

Ans

/< 1. None
x21
3 1and2
X422

Q.ﬂ An absolurely imzgrable siznal Xt is known to havea polz at s 5, Which of the following statements are correcty

Ans X 1. x(t) is of finite duration

Question ID :

1860452336

Status : Answered
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f 2. None Chosen Option : 3
#< 3. X(1) is right sided
< 4. x(t) is not feasible
Q.9 7.t x(t) he s signal with Nuaquizt rate wy. Tletermine the Mveist rate for yi1) — x(f)cos(wni).
Question ID : 1860452335
Ans x 1. Wp Status -
us : Not Attempted and
Marked For Review
X 2. 2wy
Chosen Option : -
W 3. 3wp
X 4 2
Q.10
Solve 15/t2=2/3: Question ID : 1860452339
Ans x 1. ff=F 122 Status : Not Answered
= Chosen Option : -
K 2 +/-2.568
V3 +/-2372
X 4 +/-2.188
—_—
Q.11 i = =& # R s A
The signal y(t) = T{x(t)} = sin(2rt)*x(t) + u(t-2) is . QuestionID : 1860452332
Ans 3 1. Linear, time variant, non-causal Status : Not Attempted and
i : Marked For Review
« 2. Non-linear, time invariant, causal Chosen Option : --
/< 3. Linear, time invariant, causal
/< 4. Non-linear, time invariant, non-causal
Q.12 A @z intossad Three times. Whiar is th2 probability of gefting an add fiiber ar I%r\:e’g
Eae Question ID : 1860452338
x 1. 7716 Status : Not Answered
f 2.7]8 Chosen Option : -
X 3 3/16
X475
Section : Electromagnetic
Q1 Light is good for telecommunications because it is: T ———
Ans . - : Status : Answered
1. a high- Snecy carrier
J gh% - Chosen Option : 1
X 2. notmodulated
X 3. dwery low-frequency carrier
X 4 alow-frequency carrier
Q.2 Tl i the comtusntivity, When i the reletionship Debween the cloiric feld Foand the siorenl densdly Tin o cmdcting
i Question ID : 1860452344
Ans off 1. g= JE Status : Marked For Review
Chosen Option : 1
X 2 o=1/(E])
K3 o=ET
K 4 g=EJI
Q.3 T4 ; H ) ravrant
‘What is meant by the polarisation of electromagnetic waves” Question ID : 1860452345
Ans X 1. Status : Marked For Review
‘The polarisation is the dircetion of the clectric cmrent in an clectromagnctic wave. Chosen Option : 1

W2




‘The polarisation is the direction of the electric fiald in an electromagneric wave.

X 3.

‘The polarisation is the magaimde of the voitaga in an eleciromagnetic wave.

X a.

The polarisation is the inverse of the electric field in an electromagnetic wave.
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Q4 Find the gradient of the curve y = 3x—7x+2at the point (1. —2): Question ID : 1860452340
Ans x 13 Status : Not Attempted and
) Marked For Review
x 2. -2 Chosen Option : ==
X3 2
v -1
Q_s Censides an interface batween two Jislectric matarials, ong with g, 2 while the ctherbas ¢, 5. Ifthe tangential
component of electvic tisld on one side of the interface has o magritude of 10Var " what is the magnitude o e Question ID : 186045 2
tangential component of electric ficld on the other side?
A Status : Not An d
ns
v 10Vm! Chosen Option :
X2 20vm!
X 3 2ym!
x 4. _Svm'—l
Q6 The wave impedance of a medium is equal to: o [65 s THEGARESAT
Ans Status : Answered

& 1 the refractive index of the medium
X 2

hosen Option : 3

the refractive mdex of the medinm diviced hy ths wave impedance of free-spac

v &)

the wave impedanca of free-space divided by the refractive in;

X 4. the wave impedance of free-spa




